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Problems similar to some of the "book" problems

Solve.
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x*—-16 —-x-4 x—4
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Factor out -1 from the denominator
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Now that the denominators are the same you can solve the equation created using the numerators.
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Sally can rake the lawn in 3 hours. Karl can rake the lawn
in 2 hours. How long would it take them to rake the lawn
if they worked together?
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One pump can fill a tank in 1 hour and Aigomin\gltes. Another pump can
fill the same tank in 1 hour and 20 minutés. How long would it take

You can now finish Hwk #11
them to fill the tank together? S0 rin

Sec 9-6 Due Tomorrow
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Problems 5, 25, 41, 46, 48 - 51
~m + S m =400
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